

The Quotient Rule

In this section we want to be able to differentiate functions that look like:
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Quotient Rule

  
If both  f  and  g  are differentiable, 

then  so is the ___________ :
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An object moves along a straight line.  The object’s position, s, at t seconds is modelled by s(t) = 
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.  When does the object change direction?  What is the acceleration at this instant?

Sol’n:
1.
Find ____ derivative, which is the 




________ function, and set it equal to 



_____ because the object changes 




_________ when it comes to a stop.



2.
Find _______ derivative, which is the 



__________ function, and substitute 



the value you found for time in step 1
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